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Honors Algebra 2 Name:
Solving Quadratic Equations by Factoring Date: BLK:

UNIT QUESTION: How do we solve quadratic equations algebraically?

Today's Question: How do we solve quadratic equations by factoring?

Solving Quadratic Equations by Factoring

1. Write the quadratic equation in standard form if

2 _ A +
needed. QX +bx+c=0; a=0 Zero Product Property
2. Factor the quadratic expression; it is still an equation
that equals zero. Ifab=0,thena=00orb=0
3. Set each factor equal to zero and solve. If the product of two factors is zero,
4. Check your answers!!! then at least one of the factors
must be zero.

Solve each equation by factoring.

1.) x*+7x+10=0 2) x*-2x=0
(X+S)x¥a) = O x(x~ ) =0
X¥5=0 X+Q2=0 X-2 =0

Swn

3) 3x*-75=0 3),‘1_‘]5; O |4)x*=10x-25

T3 3 tlox#s -lox+2S

x=%*5) mulfipliciy -

5) x*=5x-6=0 6.) X2 +2x-48=0
oA TH ENe (X48)X-)=0
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7.) x*-8x=-12
X -Pxtla= 0

(X-6)Xx-2)= O

8.) x* +5x-36=0
(x+Ax-P=0
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9) 2x*—11x =1
- Sx+32 132

10.) 3x2+15x:x21—7
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1) 8*=10x+3  @€=-24 b=-1912) (x+12)° =0 Think aboutit!

(X+H )X+ (2)= O
X= —la re
o mult 2

Solve a quadratic equation to answ

X*-3x =28

13.) A reCTE]ngIe has a width that is 3 feet less than its length.

W X'3
X

a. Write an expressior&or the area of the rectangle. X (X’j) =X -3X

b. If the areais equal fo 28 square feet, what is length?

X;—Sx—A&:O
(X-)xv4)=°
X=", X=79

=g

(e, lenathis T $<.
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